Mathematics 9

Determining Points of Intersection Graphically

Date:

Graph #1 below shows the intersection of the lines y=2x-6 and y=-3x+4.

Label each line in Graph #1 with its equation.

In Graph #1 label the point of intersection with its coordinates.

For graphs #2-8, plot both given lines, then label each point of intersection with its coordinates.
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4. y=2x-1 and y=—x+4
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7. y=1ix+6 and y=-2x+3 8. y=—2x-1and y=—Ix+8
Answers:
1. (2-2) 2. (2,3) 3. (2,6) 4. (3,1)

5. (-4,-6) 6. (6,-3) 7. (-5,5) 8. (3,-2.5)
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1. Give: - 2. Graphthelines y=2x-2 and y=-x+8.
a) equation of linea: _M :3,( 1 3
V State the coordinates of their ( D)
b) equation of lineb: 9 = X =5 point of intersection: 4 )
c) coordinates of their point . .
X L _ Check your answer in your notebook using
of intersection: (3= ?.) oroper LS= and RS= form.
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3. Complete the tables of values for: L 4. Complete the tables of values for:
QA 2x+5y=10and 2x+y+6=0; y=-3x—-6 and y=-2x-2,
X1y X1y X1y X1y
0|2 0 |-6 2|0 2| 2
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then graph the lines 0 |-§ 3 |-¥
?:nhd stkate the point o_f intersectiog: E‘g{” then graph the lines
ECK your answer In your notebook using and state the point of intersection: _ (-4, 4 )
proper LS= and RS= form.
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